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Section-A /QUus -3

A number when divides 206, 368
and 449 leaves the same remain-
der in each case. What is the larg-
est such number?

(A) 33 (B) 48

(C) 81 (D) 96

A is shorter than B but much taller
than E. Cis the tallest and D is little
shorter than A, who is the shortest
among them?

(A) A (B) C

(C) D (D) E

If ROSE is coded as 6821, CHAIR is
coded as 73456 and PREACH is coded
as 961473, what will be the code for
SEARCH?

(A) 216473 (B) 246173
(C) 214673 (D) 214763

If A is the brother of B, B is the
sister of C, and C is the father of D,
how D is related to A?

(A) Brother

(B) Sister

(C) Nephew

(D) None of these

Pointing to a photograph of a male,
Suresh said, "He is the son of the
only son of my mother". How is
Suresh related to that male?

(A) Brother

(B) Uncle

(C) Cousin

(D) Father
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1.

U I 519 206, 368 T9T 449 I faanfsia
FRa! & df T dhMIT &aT 2] U 99

TSI T FT &P
(A) 33 (B) 48
(C) 81 (D) 96

A BieT & B & TR B ol & E ¥ C
eI T2 I D NST MBI 2 A Y,

9 ¥ Ia9 BIeT B 27
(A) A (B) C
(C) D (D) E

Tfd ROSE &7 6821 ¥ ®ig fbar T 2,

CHAIR & 73456 ¥ dT PREACH &
961473 I ®is fooar STAT €1 SEARCH @

I Pig fHar s
(A) 216473 (B) 246173
(C) 214673 (D) 214763

afC ANEE B P, BIETE CHI 3R C
fiar € D &1, A D &1 A I T T 27
(A) ¥

(B) &7

(C) <t

(D) W & g Tl

U® g9 & BT B 3R Adhd B g2
IR 1 BET g8 W Al B THATA LA B
7 217 G B 39 YT F T FE
&7

(A) w8

(B) dren

(C) TR 9

(D) fan

P.T.O.



10.

The Philosophy of Naturalism is re-
flected in the system of-

(A) Navodaya schools

(B) Central schools

(C) Private schools

(D) Playway schools

Micro Teaching is useful for-

(A) Development of Talent

(B) Exceptimal children

(C) Teachers Training

(D) Vocational Education
Inductive Method Proceeds from-
(A) General to Particular

(B) Particular to General

(C) Common to Specific

(D) All of the Above

Who established first Psychological

Laboratory :
(A) Galton

(B) KurtLewin
(C) Watson

(D) Wundt

The first Basic school under Gandhiji
scheme was setup at-

(A) Nagpur

(B) Porbandar

(C) Sabarmati Ashram

(D) Wardha
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10.

YgtadTe T &2 itaTiad ardT & JoTer
-

(A) ey foaea

(B) o faenea

(C) e femera

(D) Ve & AR fq@m are faemea
e freror fas o emers &-
(A) wiawr & foem & o

(B) 3MITERUT i & ford

(C) frersp wisremr & forx

(D) wraafas fBrem & o
amrae fafer sgar -

(A) IH=a ¥ fafere & 3l

(B) fafdre & am=a & 3R

(C) YR ¥ W & 3R

(D) 3IWIB T

T AN SANTeT fobere gRT <Rnfue
CIRIEDIE

(A) e

(B) F¢ aifer

(C) dread

(D) gue

T ST @ AT P 3T UBelT S
faemera wenfua fasar mar en-

(A) AR

(B) UREX

(C) TIeRH 38

(D) aTef




11.

12.

13.

14.

Which committee first defined the
term wastage and stagnation :

(A) Wood's Despatch

(B) Hartog Committee

(C) Gokhale's resolution

(D) Sargent Commission

The aircraft that dropped bomb on
Balakot, Pakistan -

(A) Mirage-2000

(B) F-16

(C) Sukhoi

(D) Mig-21

Where is the Headquarter of
UNICEF situated?

(A) New York

(B) London

(C) Sydney

(D) Berlin

Suggestion for adopting 10+2+3
pattern of education was first given
by :
(A)
(B)
(®)
(D)

Kothari Commission

Mudaliar Commission

Radha Krishnan Commission
National Policy on Education

1986
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11. o afafa 3 wduem sue e siaRred
@I gRwfva foar?
(A) g8 festa
(B) ®chT Wi
(C) TEel g&a
(D) |oT 3N
12. SEPIC, BRI W Teld A = a9
AR o -
(A) fiRTS-2000
(B) T®-16
(C) Iur
(D) -2
13. UNICEF (ZHRI%) &1 HReaTerd del (eerd
&?
(A) g
(B) @A
(C) fosi
(D) afeid
14. TRT6T DY 10+2-+3 TR 30 HT JH1
Fayery fean

(A) PSR TN

(B) HaIfeRR 3man
(C) TEMHUE 3T

(D) g ferem kT 1986

P.T.O.



15.

16.

17.

18.

19.

The latest term used in special edu- 15.

cation is :

(A) Differently Abled children
(B) Divyang

(C) Children with special needs
(D) Special children

Who said that 'Adolescent is a pe- 16.

riod of Identity Crisis'.
(A) Freud

(B)
(9)
(D)

Stanley Hall
Erickson

Piaget

Who is the founder of Heuristic 17.

method :

(A) H.E. Armstrong
(B) B.S. Bloom
(C) J.F. Bruner

(D) H.C. Morris

Which among the following is not a 18.

part of Individual aims of education-
(A) Individual Freedom

(B) Self Expression

(C) Development of Potentialities

(D) Social skills

Which is not a type of network : 19.

(A) LAN
(B) WAN
(C) TAN
(D) None of these
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faferee FRT8T & Sgeh & aTel AaHaw ua
g

(A) 3R ANg qIcd®

(B) &=

(C) fafdre 3maeadansit ae acis
(D) faRre s

@ 3R &

(A) B

(B) A &fct

(C) tREHeA

(D) @t
wRies faftr & s+ dH &7

(A) 933G

(B) area. M

(C) 3.k R

(D) Ta..ARE

=1 & 9 3 91 389 fen & dafhd
R B 3 T -

(A) dafhes Tad=rd

(B) STcHIHANRE

(C) &wamit &1 fase

(D) IHIfoid P

= § ¥ P Acad P ISR BT 2 -
(A) Td €A

(B) gx] U Ud
(C) dvwd

(D) 3WIh Bly el




20.

21.

22.

23.

EDUSAT isa :

(A) Educational Kit

(B) Name of a satellite

(C) Measuring Tool

(D) Statistical Technique

National Education Day is celebrated
in the memory of :

(A) Radha Krishnan

(B) Jakir Hussain

(C) Mahatma Gandhi

(D) Abul Kalam

Which is the most stable measure
of central tendency?

(A) Mean

(B) Median

(C) Mode

(D) Percentile

The family imparts education to the
child is known as :

(A) Formal
(B)
(9)
(D)

Informal
Non Formal

Regular
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20.

21.

22.

23.

EDUSAT &-

(A) e foe

(B) 3UUE B T
(C) AT 3YaROT
(D) wiRkem®a afafer

g e feaw foowasr Wi # A+
ST & :

(A) TUHOH
(B) e goA

(C) HETeHT el

(D) 3geT PeiH

P ygfd o1 qe ®RIS 9 P A
&?

(A) TegaA=

(B) H&IH

(C) gD

(D) wftrerdis

URAIR RT §icid Bl Y @ ST aTel)

f21em g 8-
(A) silraiRe

(B) 3HITTIR®
(C) 3ilraReaR
(D) Fafa

P.T.O.



24. Who gave the philosophy of 24. Uy anT 229 feay oo &9
Intergral Yoga :

(A) #i 3Rfa=

(A) Shri Aurobindo

(B) Swami Vivekanand (B) W fadmr

(C) Swami Dayanand (C) WM TTH=<

(D) Swami Ramdev (D) TR IMeT
25. The Initiation into education in Mus- 25. HRem et § Rren 3w g fooar =

lim period was performed through a aTeT TR &

ceremony called : (A) sH

(A) IIm (B) s

(B) Pabajja

(C) Bismillah ORLL

(D) None of the above (D) 3IWIH # F B Tl
26. Father of creativity is : 26. GoHIADBAT & D &

(A) Charles Spearman (A) T TR

(B) E.P. Torrance (B) 3.0V, TR

(C) B.F. Skinner (C) d.ew.ReR

(D) E.L.Thorndike (D) §. Tel. oASEH
27. The Two factor theory of Intelli- 27. §fg & fepRe Ngra & fasr foar:

gence was developed by : A) N

(A) Spearman

(B) Thurston (B) FRie

(C) Binet ) f&

(D) Guilford

(D) fireT®rs
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28.

29.

30.

31.

Thorndike formulated which theory
of learning :

(A) Classical conditioning theory
(B) Trial and Error Theory

(C) Insight Theory

(D) Field Theory

Whose statement is that 'Knowl-
edge is virtue':

(A) Plato

(B) Socrates

(C) Aristotle

(D) Mahatma Gadhi

Concept of 'Negative Education' is
related to :

(A) Kant

(B) Aristotle

(C) T.P. Nunn

(D) Rousseau

According to which article of Indian
constitution “Education is fundamen-
tal right for children aged 6-147

(A) 21(A)

(B) 45

(C) 51(A)

(D) 42

Geography\027\2019\Q

28.

29.

30.

31.

offisrse - It & foa Rrgra @
fermior fo5ar -

(A) e e A

(B) W™ w9 e &1 Ngr<

(C) srergfte Ragrr

(D) & Ragra

fpaa due & 6 a9 o &

(A) wil

(B) obxid

(C) 3RK]

(D) HETHT Tien

TrercHe et & Yoo &1 Fre b
&

(A) ®IUC

(B) 3R]

(C) eLur==

(D)

IR TG & 69 e & IR

“R1em 6-14 a9 & T BT AYT IIHR
&?

(A) 21 (A)

(B) 45

(C) 51(A)

(D) 42

P.T.O.



32.

33.

34.

35.

Kindergarten method is given by :
(A) Montessori

(B) Socrates

(C) Frobel

(D) Mahatma Gandhi

UNESCO is an institution of :

(A) National level

(B) African level

(C) International level

(D) Asia level

When did Gokhale presented the
Primary Education Bill in Imperial
legislative council?

(A) 1910

(B) 1911
(C) 1912

(D)

In 42nd constitution amendment

1913

Education come into -------------
(A) Union List

(B) State List

(C) Concurrent List

(D) None of these

Geography\027\2019\Q
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32.

33.

34.

35.

fopezmda fafér < &-

(A) HAiCHR A

(B) FRM A

(C) wIae A

(D) wHeTe TieE 3
TARD! U Rl &-

(A) LT TR DI

(B) 3HIdT TR B

(C) IR TR B

(D) ©RmT ¥R &I

TRger = methe e Tl fad v
faeg™ oRve # &9 wqa fear?

(A) 1910
(B) 1911
(C) 1912

(D) 1913
429t Hfaem wenes I Rrem 3m-----
(A) <" gar

(B) 159 ol H

(C) wHadr gar #

(D) & | P el



36.

37.

38.

39.

Which language did Macaulay sug-
gested making a medium of educa-
tion?
(A)
(B)
(o)
(D)

Which was the first University in the

Mother tongue
English
Urdu

None of these

world?

(A) Taxila
(B) Nalanda
(C) Vallabhi

(D) Vikramashila

Video conferencing is which type

communication?

(A) Visual one way

(B) Audio visual one way
(C) Audio visual two way

(D) Visual two way

Who is accountable in school?
(A) Teacher

(B) Student

(C) Administration

(D) Above all

Geography\027\2019\Q
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36.

37.

38.

39.

Hprer 3 foo T | f31eT &1 A1 §9AM
&1 garma fear?

(A) #Iq e
(B) 3TN

(C) 3
(D) W ¥ P Tl
fawa &1 yem foeafaaea &= a7 are

(A) e
(B) HTetar
(C) ool
(D) fespafdrer

aifedr eEbfaT fha yeR &1 gwmoT
a?

(A) 39 U foem &

(B) S10-32T U foem H
(C) %a-3zg e feem #
(D) T el foem &
faamerr # P TmER &2
(A) e

(B) ®H

(C) v

(D) IRKIH THr

P.T.O.



40. If a child has 5 year chronological

41.

42.

43.

age and 7 years mental age than
what is his I. Q?

(A) 140

(B) 120

(C) 100

(D) 90

Who suggested the establishment
of a Central Training Institute in
Uttar Pradesh?

(A)
(B)
(o)

Kher Committee - I

Kher Committee -II

Acharya Narendra Dev Com-
mittee

(D) Zakir Hussain Committee
The Finance Commission is ap-
pointed after every :

(A) 2years

(B) 3years

(C) 4 years

(D) 5 years

Complete the number series.
4,7,12,19,28,?

(A) 30

(B) 36

(C) 39

(D) 49

Geography\027\2019\Q
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40.

41.

42.

43.

Iie U g0l ol IRR 371G 5 a9 G AP
3G 7 a6 & al IFD laered FT ghi:
(A)
(B)
©
(D) 90

IR USY H Brd URIeT AR &t
RIGT &1 gama fooem fear?

140
120

100

(A) TR a1

(B) ¥R wMHf-1I

(C) AR A= aq Afufa
(D) o= g9 afufa

fat 3T &1 e o5 ST €, 9
(A) @ guf & a1e

(B) & auf & s

(C) IR a8t & §1a

(D) dufa aut & a1

3t B AR B got B
4,7,12,19, 28, ?

(A) 30

(B) 36

(C) 39
(D) 49



44. Teacher development programmes 44, e faprT sried = wq J gHTiaa

are mainly influenced by : B g :
(A) Teaching Technology (A) TRremor ae-dr R
(B) Instructional Technology (B) 3Me¥M APl BRI
(C) Behavioural Technology (C) EER dd-Id! gRT
(D) Information Technology (D) T Al R
45. The weakness of the educational 45. e Fwrsl Hf BHSRAT BT e
institution can be diagnosed by = & 3 fsas gr1 fovan 31 e &
which of the following : (A) Femrere wieor gRI
(A) Diagnostic Tests (B) e
(B) System Analysis .
(C) Surveys (C) et g
(D) Examination System (D) GRIE Yol GRT
46. Who has advocated the 'Law of Ex- 46. G- § 3T o e, ‘e ot o

qAT “deaRdT &1 raw e fear ¢ -

ercise', 'Law of Effect' and 'Law of

Readiness' in Learning : (A) PIER
(B) Pavlov

(C) &
(C) Hull
(D) Thorndike (D) uUrisTE

47. Which of the following is not the 47. T # A BF 1 Wi &1 dc T8 o

element of memory : (A) fo=a=
(A) Contemplation (B) &RUT
(B) Retention

(C) )07
(C) Recall

(D) ugTm

(D) Recognition

Geography\027\2019\Q [11] P.T.O.



48.

49,

50.

51.

Geography\027\2019\Q

Who used sign language :

(A) Visually impaired person

(B) Hearing impaired person

(C) Person with low vision

(D) Hearing and speech impaired
persons

Curriculum of montessori and Froebel

education system is based on :

(A) Subject centred curriculum

(B) Student centred curriculum

(C) Classical curriculum

(D) Craft centred curriculum

Imposition of one's own feelings on

others is the defense mechanism

called :

(A)

(B)

(®)

(D)

Teaching enacted artificially in Train-

Projection
Identification
Displacement

Introjections

ing is known as:

(A) Dramatisation
(B) Simulation
(C) Demonstration

(D) Artificial Communication

[12]

48.

49.

50.

51.

il T b GRT TG B SN & -

(A) 3t a1t fwarl & gRT

(B) s@ur aiftra afbai & gR
(C) 31w gfte Il AAfhal & gRI
(D) %190 T dIhaned apdl &

g1
AR 3R wrae et ughd o urgaet
TENRA & :
(A) o i aeaaaf
(B) SO Bivad UIGTAal
(C) wmeg yreaTat
(D) Trey ofsa wreaaat
TR R 3O WG SR dRA B
gfth beeTl ¢ :

(A) g&mTor

(B) g™
(C) foemm

(D) 37d: Defor

UTRTETOT & P B9 37 R1eTor ST Haera
3.

(A) T T

(B) 3RO AT

(C) o= &1

(D) B o



52.

53.

54.

55.

Which of the following approach is

related to the mechanization of edu-

cational process?

(A) Hardware Approach

(B) Software Approach

(C) System Approach

(D) Teaching Approach

Information and communication

technology gives emphasis on.

(A) Child-centred method of teach-
ing

(B) Teacher-centred method of

teaching

(C) Subject centred method of

teaching

(D) Society-centred method of

teaching

Which of the following type of food

should not be included in the Mid day

Meal?

(A) Food full of vitamins

(B) Food full of minerals

(C©) Junk food

(D) Fresh food

Which of the following is not the

component of education?

(A) The teacher

(B) The student

(C) Classroom

(D) Curriculum

Geography\027\2019\Q
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52.

53.

54.

55.

=1 ¥ O 3 91 3uny St ufsear &
TATHROT I Frafera &7

(A) TR ¥ 3unm

(B) #g fRrea 3urm
(C) YoTel 3UNTH

(D) f3reror 3Ummy

T T TR ddh-Id! HEed act

&

(A) BE-diea feremor fafsr w
(B) fRer-divea freror fafer w
(C) fowa-oivsa freror fafer w

(D) SHTST-Pi~sd fRreor fafer w

= & & {59 UBR & HioH @ qeaTg
Ao ¥ e =8l fosan ST anfee?
(A) foeifie & RER s

(B) fRa & R AIsH

(C) 3% TEH HioH

(D) aTsTm WisH

= 8 & o9 @ fem & 3 Fd
&?

(A) 37ETTUD

(B) faame

(C) arhel

(D) TSIl

P.T.O.



56.

57.

58.

59.

60.

Geography\027\2019\Q

The venom of honey bee is used 56
for the treatment of-

(A) Arthritis

(B) Whooping cough

(C) Ulcers

(D) AIDS

At what temperature are the read-
ings of a Centigrade and Fahrenheit
thermometer the same-

(A) -40

(B) 212

(C) 40

(D) 100

'Booker Prize' is given in the field of -
(A) Journalism

(B) Games

(C) Novel writing

(D) None of these

Kaziranga wildlife sanctuary is lo-
cated in -

(A) Assam

(B) Gujarat

(C) Uttar Pradesh

(D) Jammu & Kashmir

Vinegar is an aqueous solution of -
(A) Oxalic acid

(B) Citric acid

(C) Aceticacid

(D) Hydrochloric acid

[14]

57.

59.

60.

fow 1 & SR & wyeh B
3
(A) ST
(B) oTel @Ay
(C) 3
(D) wss
g I R I3, 9 BRAES TR
& UTSdTS T 8 & -
(A)
(B) 212

-40

(C) 40

(D) 100

. g ST fbd &7 # & Sl ©

(A) TFHIRAT

(B) Woiga
(C) 3T &g

(D) T & BIg Tl
BRI TTsild ARG Ry &

(A) 39 #

(B) ToR A

(C) FR e d

(D) 39 3 HR |

e e @1 Feta 9 @ -
(A) 3HeRfcTs 3T

(B) fafee s

(C) vhafes ara

(D) TRITAIRD 37



61.

62.

63.

64.

65.

Geography\027\2019\Q

Blood Donation Day is celebrated 61.

on-
(A)
(B)
(®)
(D)
HTML stands for

15t October
374 Qctober
14t June

6t December

(A) Hyper Texts Manipulating links

(B) Hyper Text Manipulating Lan-
guages

(C) Hyper Text Markup Languages

(D) Hyper Text Managing Links

'India House' is in

(A) Paris

(B) New Delhi

(C) London

(D) Kolkata

The maximum percentage of the

tribal population in India consists of-

(A) Santhals

(B) Bhils

(C) Mundas

(D) Nagas

Recognition of Political Parties is -

(A)

(B)

(C)

(D)

Speaker of Loksabha

Election Commission

President

Minister of Parliamentary af-
fairs

[15]

62.

63.

64.

65.

%%h & feaw & -

(A) T 3Hagsx

(B) I 3age}

(C) dfeg

(D) & fmex

T9.o).uH.ud. Sfia @Rar & ¢
(A) EBR Cavg HfgafeT fefaw
(B) BBR dave, AfgerfeT st
(C) TR davg, wbam dfidar
(D) BRW cawg wAfS fefa
‘giogan e3e’ Rera & -

(A) aRe#

(B) =5 facen #

(C) @<a ¥

(D) Pc®RdT |

R ¥ 1 ST aite of gfderdaarn
3Tty & -

(A) T

(B) ¥t

(C) gsr

(D) =rm
SHid el P AT ST &:
(A) TNHIH BT WP

(B) T 3w

(C) rgafer

(D) e & BRIAE dA

P.T.O.



66. The highest cultivated crop of India

is -
(A)
(B)
()
(D)

67. The tenth schedule of the Indian

Constitution relates to -

(A)
(B)
(©)
(D)
68. The

tre of ICSSR is situated at

(A)
(B)
(©)

(D) Madhya Pradesh

69. Earth day is celebrated on -

(A)
(B)
(C)
(D)

Wheat

Rice

Maize

Potato

Antidefection law
Panchayati Raj

Land Reforms

Languages

North Western Regional Cen-

Chandigarh
New Delhi

Meerut

22" May
5% June
22" April

22" March

Geography\027\2019\Q
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67.

68.

69.

. YR ¥ 9a9 e 3= gl Bad

g

(A) T

(B) d&d

(C) dHdoI

(D) 31reg

R AT D GAT ST BT T
=

(A) ToEed foRTE BT &
CRIEEIECIRER

(C) 4fH guR &

(D) «msi |

3TS. <. 0. 0. 3R, & 3% Uiaw &g
i Red € -

(A) Mg

(B) % faeh

(C) WS

(D) HET Haul

‘gedt feas’ W= ST @
(A) 227

(B) 53

(C) 22 3na

(D) 22 A



70.

71.

72.

Who has written 'Kamayani'-
(A) Nirala

(B) Jaishankar Prasad

(C) Mahadevi Verma

(D) Amrita Pritam

Who invented Electric Bulb-

(A) James Watt

(B) Thomas Alva Edison

(C) Graham Bell

(D) Stephenson

Which of the following show the

correct matching :

I II
(i) Uttar Pradesh (a) Devendra
Fadnavis

(ii) West Bengal (b)
(iii) Maharashtra (c)

(iv) Delhi (d)

73.

Arvind Kejriwal
Mamta
Banerjee

Yogi Adityanath
(A) (i) d, (ii) c, (iii) b, (iv) a

(B) (i) d, (ii) a, (iii) b, (iv) c

(C) (i) b, (ii) ¢, (iii) a, (iv) d

(D) (i) d, (ii) c, (iii) a, (iv) b
Which of the following is different

from others in the group?
(A) 352
(B) 145
(C) 345
(D) 136

Geography\027\2019\Q

70

71.

72.

73.

"BHETTAT B oGP B &

(A) R

(B) STUZHR UG

(C) werear gdf

(D) 3T e

fSaTell & dca I TR e o5 o -

(A) =7 dfc

(B) oifesy vean efew=

(C) UreH aa

(D) TIhTaT

Fefafea & 3 o 98 gfina &

I 11

(i) IRy (a) <d= WeTdN

(i) uf¥eel sma  (b) 3Rfa=
HRIaTd

(i) HERTY (c) FHdT §1

(iv) feoen (d) ot anfecarer

(A) (i) d, (ii) ¢, (iii) b, (iv) a
(B) (i) d, (ii) a, (iii) b, (iv) ¢

(C) (i) b, (ii) ¢, (iii) a, (iv) d

(D) (i) d, (ii) ¢, (iii) a, (iv) b
Rrefeiea § & @ 1w 37 3 R
&

(A) 352

(B) 145

(C) 345

(D) 136

P.T.O.



74. Find the next number of the series

75.

76.

77.

2,11,47,191,767,7?
(A) 2981

(B) 3058

(C) 3071

(D) 3068
Curriculum means -
(A) All the experiences which stu-
dents get in schools

(B) Subject that are transfered by
the faculty

(C) Syllabus prescribed for the
course

(D) Class, experiences, sports and
games

Which one of the following is not a
measurer of Human Development
Index?

(A) Adult Literary Rate

(B) Gross Enrollment

(C) Sex ratio

(D) Life expectancy

Purpose of the creation of the uni-
verse and its relation to man and God
is discussed in :

(A) Metaphysics

(B) Ethics

(C) Epistemology

(D) None of these

Geography\027\2019\Q
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74.

75.

76.

77.

SGAT DI 3N T=AT Fd Difor |
2,11, 47,191, 767, ?

(A) 2981

(B) 3058

(C) 3071

(D) 3068

UTSTH ¥ 3R @ -

(A) faenell gRT ¥pa § wa f6d T

GEIREEC]

(B) fowa {52 sreamus i gRT UGN
a1
(C) = & forr FefRa Rcew

(D) e, 3Yd, ¥d 3R Hem
FmfoRaa # & o a1 9Hq fao™ Jaoid
&I AS TEl 8?

(A) Tilg IeRdaT X

(B) TP AHIDH

(C) feir aqura
(D) 3 wearem

gfte &1 IT-T BT 322D 3R TADBN 3IR
T AT & O & IR | T @

(A) 3T H
(B) =fis o #
(C) 9 oA |

(D) 5 & ®I5 el



78.

79.

80.

81.

Which one of the following is an in-
dicator of quality of a research jour-
nal ?
(A)
(B)
(C) g-index

(D) i10-index

The Child having the difficulty in pick-

Impact Factor

h-index

ing, up objects is suspected to have
(A) Lower level of intellectual

(B) Sight Impairment

(C) Speech Impairment

(D) Locomotor Impairment
Research means -

(A)
(B)

Searching again and again
Finding solution to any prob-
lem

(C)

Scientific approach to a new
truth

(D)
The

Conducting experiment
average age of husband, wife
and their child 3 years ago was 27
years and that of wife and the child
5 years ago was 20 years. What is
the present age of the husband?
(A) 35 years

(B) 40 years

(C) 45 years

(D) 50 years

Geography\027\2019\Q
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78.

79.

80.

81.

frfoRed & & aF a1 v oy ubid
@I U B YIS &7

(A) UG 0T

(B) TT gead

(C) Sif g8

(D) i10 g3

39 1T W ToTt a¥g3it Y 36 H Bio-Ts
3w 2, oo sremar & B9 @1 W 2
(A) difcs FRIVT &1 e W)
(B) gftc & 3r&mmar

(C) Qo™ PN &

(D) WP e
IIET & 31 ®

(A) §R §R Qs

(B) Tl Sw e &1 &4 gol

(C) T I & dsnisp @S

(D) YINT BRAT

U& Ui, Ol d 390 god dF 3 a9 g4
3iRTd 31 27 I o @1 U 3R = B

5 9§ g4 3id 3mg 20 @ o ufc @t

e 3 fobae &7
(A) 35 99
(B) 40 3§
(C) 45 99

(D) 50 99
P.T.O.



82.

83.

84.

85.

The captain of a cricket team of
eleven members is 26 years old and
the wicket keeper is 3 years older
than captain. If the ages of these two
are excluded, the average age of the
remaining players is one year lesser
than the average age of the whole
team of eleven. What is the average
age of the whole team?

(A) 22vyears (B) 23 years

(C) 24 years (D) 25 years

In covering a distance of 30 km,
Abhay takes 2 hours more than
Sameer. If Abhay doubles his speed,
then he would take 1 hour less than
Sameer. What is Abhay's speed (in
km/hr)?

(A) 5 (B) 6

(C) 6.25 (D) 7.50

The ratio between the speeds of
two trains is 7:8. If the second train
runs 400 km in 4 hours, then the
speed of the first train is :

(A) 75.5km/hr

(B) 75km/hr

(C) 84.5km/hr

(D) 87.5 km/hr

If a person walks at 14 km/hr in-
stead of 10 km/hr, he would have
walked 20 km more. The actual dis-
tance travelled by himis .

(A) 50 km (B) 56 km

(C) 60 km (D) 75 km

Geography\027\2019\Q

82.

83.

84.

85.
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11 TET BT e CH S DM DY 37T 26
q¥ & 7 fache IR Bl 3T B 3 I ay
MG 2| A 3 ARl BT ARwiHd ATat fbaT
ST T T & S1o! Taxdl ol 3T 31T 11
et BT E BT NI 31 I 1 99 BH |
S &1 R EW b 3T 3y T &9
(B) 23aY

(C) 24 Ty (D) 25 a¥

30 T, B R qF R H, 3T TR |
2 GeT JAT® THd ol g afd 314 370+
T SR R < A 98 TR 3 U Hel
T O | 379 Y it (fose, feien) fosar
g?

(A) 5 (B) 6

(C) 6.25 (D) 7.50

& AT f T &7 3T 7:8 B afd IRy
& 4 B¢ # 400 i, St &, A vgedt ¢
@ T T &2

(A) 75.5 fopmr. /g

(B) 75 fo&m. /ger

(C) 84.5 foBm. /eiet

(D) 87.5 e, /ger

afe ve aafts 10 &), /ger & w=—F W

14 &I /9T ¥ TadT a1 98 99T § 20
foom. 3tk e 39 arfasdr # fooa

(A) 2299

T T DI?
(A) 50 . (B) 56 T
(C) 60 T (D) 75 f&.



86.

87.

88.

Two students appeared at an ex-
amination. One of them secured 9
marks more than the other and his
marks were 56% of the sum of
their marks. The marks obtained by
them are :

(A) 39, 30

(B) 41, 32

(C) 42, 33

(D) 44, 35

A man goes up the hill at a speed
of 20 km./hour and comes down
at a speed of 30 km./hour along
the same path. What is his aver-
age speed in km./hour?

(A) 25

(B) 26

(C) 20

(D) 24

Some friends are watching a bas-
ketball game, Hari is sitting in seat
no.253, to his right is Mahi and two
seats to the left of Mahi is Ganesh's
seat. Ganju is sitting 10 seats to
the left of Ganesh, what is the seat
number of Ganju?

(A) 244

(B) 252

(C) 262

(D) 242

Geography\027\2019\Q
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86.

87.

88.

a1 BT - U TRIET | 376 3 0 3 R
9 31 31ftre e B 3R 3TF 31

39 A1 gRT U 37T BT 56% &l b

GRT I 3ics Tosa-fepamr &7
(A) 39, 30
(B) 41, 32
(C) 42, 33
(D) 44, 35

TP 3TEH! TP UgTs! W 20 fopet. /der o
T & FR T & 3R 38T IR W 30754/
geT oI T I 7 3aRan 21 39a! 3itad

f foaw e, fder &2
(A) 25
(B) 26
(C) 20
(D) 24

38 i arse a1 & Ao dw R &l &
e 7.253 R q1 &, 3B el 3R

e & 3R W & & Ae SRl 3R Mo
@I e & T T & &9 A IRl 3R
dor1 8, T @1 Hie |, Far &?

(A) 244

(B) 252

(C) 262

(D) 242

P.T.O.



89.

90.

91.

92.

A department of Maths needs to
appoint its Chairperson on the ba-
sis of seniority. Ms. West has less
seniority than Mr. Temple but more
than Ms. Brody. Mr. Rhodes has
more sensiority than Ms. West but
less than Mr. Temple. But Mr.
Temple does not want the job, who
would be appointed as the new
Chairperson?

(A) Mr. Rhodes

(B) Ms. West

(C) Ms. Brody

(D) None of these
If the eight digit number X 7654321
is divisible by 9 where X is a single

digit whole number, find X.

(A) 3 (B) 5

(C) 8 (D) 9

Which of the following is a prime
number?

(A) 851 (B) 589

(C) 429 (D) 307

A train passes over a one km. long
bridge. The length of the train is half
that of the bridge. The train takes
two minutes in clearing the bridge
completely. What is the speed per
hour of the train in km?
(A) 30 (B) 45
(C) 60 (D) 90
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89.

90.

91.

92.

UF T TqHRT B 3 Sreme o FgRe
IRESAT & MR W B &1 B ave
aReadr fiRex T & &0 & Wy B Jer
3 31fer 21 ex g r aReedr it axe
3 31fere & R e S I 8 1 FveR
CHICT 3TETET el & T, U H 1 3reat
& fory foprdt Frrgfes r e

(A) A% Tew
(B) o

(C) T arst

(D) T ¥ B el

afe 31S 3Pl B T T=T X 7654321
guia: faursa & 9 & Siafd X U 3ic o
gof 5= &1 X &1 A9 Farsd |

(A) 3 (B) 5

(C) 8 (D) 9

T I P AT IR 3T (TH THR)
&

(A) 851 (B) 589

(C) 429 (D) 307

T 1 UG fopHl, o gt ol R ahxelt &
& DI oI Yol ol 37 &1 ¢ Bl gutaT:
I UR &’ ¥ 2 fiee e &1 ¢ &t fy

foam fomr. ufa ger @2
(A) 30 (B) 45
(C) 60 (D) 90



93.

94.

95.

96.

A person is standing on a step of a
stair case. He walks down 4 steps,
up 3 steps, down 6 steps, up 2 steps,
up 9 steps and down 2 steps. Where
is he standing now in relation to the
step on which he stood when he
started?

(A) 2 stepsup

(B) 1stepup

(C) No Change

(D) 2 steps down

A two digit number is one more
than six times the sum of its digits
and also five more than forty six
times the difference of its digits.
Find the number.

(A) 79 (B) 97

(C) 49 (D) 94

Ashok has total of 30 notes in de-
nominations of Rs. 20 and Rs. 5. The
total value of the notes with him is
Rs.300. Find the number of Rs.20
notes with him.

(A) 5 (B) 10

(C) 15 (D) 20

Ajay distributed a total of 60 sweets
among his sons - Ram, Shyam and
Tarun. For every five sweets re-
ceived by Ram, Shyam received four
sweets. For every two sweets re-
ceived by Shyam, Tarun received
three sweets. Find the number of
sweets received by Tarun.

(A) 18 (B) 12

(C) 24 (D) 30
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93.

94.

95.

96.

U b Wlel & Ub I W WSl & a8
4 Jrgl T 3aRaT &, 3 el W T &,
6 el T Iaxar &, 2 el IR T &,
9 Jiel FW TedT & 3iR 2 ! Ty a=an
2| 98 3107 RS R I Baf @l 27
(A) 2 G IR

(B) 1 WG FW

(C) s Rad el

(D) 2 O A

TSP QT 3ihl P T 319+ 3ihT & AN B
B AT 9 U6 318 & a9 3idl & 3R
& fesanfors 1 & ufar 31ftres &1 o' dwen

S|

(A) 79 (B) 97

(C) 49 (D) 94

37N & U 20 U § 5 TG a1t e

30 AT &1 3 U $et AICt BT Jed 300
WY & 36 U 20 W9 & fobe e
&

(A) 5 (B) 10

(C) 15 (D) 20

315 A 3 YA M, T g 00T &
i 60 fHorsat sfear &1 I 31 el 5
HoTSal & aer v @ 4 et ferar
21 vam o fiel 2 fsrgat & amer awor
& 3 froRat fed €1 oo & o

fpa- forsar fer €7
(A) 18 (B) 12
(C) 24 (D) 30

P.T.O.



97.

98.

99.

Girish takes 1 minute to complete
a round around a circular track.
Harish is twice as fast as Girish,
Suresh is thrice as fast as Harish. All
three start at the same point. After
how much time (in minutes) would
they meet first at the starting point?
(A) 1 (B) 2

(C) 6 (D) 12

If FRIEND is coded as HUMJTK, how
would CANDLE be written in that
code?

(A) DEQIQM

(B) DCQHQK

(C) EDRIRL

(D) ESJFME

P, Q and R are three consecutive
odd numbers in ascending order. If
the value of three times of P is three

less than two times of R, find the

value of R?
(A) 7 (B) 9
(C) 11 (D) 5

100.The total cost of 2 pencils, 5 eras-

ers and 7 sharpeners is Rs.30, while
3 pencils and 5 sharpeners cost
Rs.15 more than 6 erasers. By
what amount does the cost of 39
erasers and 1 sharpener exceed the
cost of 6 pencils?

(A) 20 (B) 30

(C) 40 (D) None of these
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97.

98.

99.

100

fiRIeT v T b BT T TaHR I
1 forfe omar 21 & fiRrer & g
ST & T R & A A AT O &1 A
o forg & uRey = €, Y fvem fiee

1€ g 1 Tgel IR IR favg W feir?
(A) 1 (B) 2
(C) 6 (D) 12

afg FRIEND &1 HUMITK & &1 fosam
STTar €, 391 BIg | § CANDLE & 69t
forar e

(A) DEQIQM

(B) DCQHQK

(C) EDRIRL

(D) ESJFME

P, Q @ R §¢d P B5H ! dii faway s
O P IS AR S AT A
9 B9 €, a1 R &1 914 gad|

(A) 7 (B) 9

(C) 11 (D) 5

a1 Ufger, dig I8 3R I oImdeR @

DT 30 T. &, FTaT A URieT 9 5 IR
B DIAd B: W68 I 15 . 31 &1 Iierd
§s 9 U IR & Hd ©: e &
foper 3rfers &2

(A) 20

(B) 30

(D) 59 A IS &I

(C) 40



Section-B / @Us -§

101.The "Wheat Crescent Area" lies in 101. Mg 3¢ TwdR &' 3aRd @
(A) Australia (A) Sﬁiﬁfﬁmﬁ
(B) Argentina (B) 3rotfeeT |
(C) Canada (C) FAETH
(D) U.S.A. (D) WY I IHRDI #
102.As per 2011 Census, the most ur- 102.2011 B SIUMT & AR, URA B
banized state of India is Taiféres TRIgd I &
(A) Goa (A) ar
(B) Keral (B) I_a
(C) Mizoram ORCER
(D) Tamil Nadu (D) dfHerTg
103. The Pirpanjal range is a part of 103.YRUSTA A0 9T & -
(A) Trans-Himalaya (A) i< fewea &
(B) Greater-Himalaya (B) WM fenmea &
(C) Shivalik Himalaya (C) Rrarfes femrea &1
(D) Lesser Himalaya (D) ©g fewmeTa @
104. According to 2011 census the high- 104.a9 2011 B SFIUFT & AR 9Rd H
est Sex Ratio in India is found in qaﬁ\%u‘hgqgma T ST 8
(A) Manipur (A) qﬁgz o
(B) Kerala (B) oxel H
(C) Bihar (C) feer #
(D) West Bengal (D) uf¥aw §me

Geography\027\2019\Q [25] P.T.O.



105.

106.

107.

108.

Who among the following is related

to Nearest Neighbour Method?

(A) PJ. Clark & F.C. Evans
(B) Nelson P. Lewis
(C) L.D. Stamp

(D) H.M. Mayer

Ria is an example of :

(A) Deposited land

(B) Submerged upland shorelines
(C) Emerged upland shorelines
(D) Eroded landforms

Who propounded the concept of
Base level?

(A) Penk

(B) Davis

(C) Powell

(D) Hutton

An aircraft is flying at an altitude of
10km. At that altitude the Tem-
perature is ~40°C. What is the tem-
perature of the ground below the air-
craft:

(A) 15°C

(B) 25°C

(C) 35°C

(D) 45°C
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105.

106

107.

108.

fFafeRaa & @ &9 Facan wer fafér
3 geatea 87

(A) .. T 3R .. 39T

(B) <o a1 oifaw

(C) Ta.g. Xw

(D) TE.EH. AW

Rar frafaRead § @ e @

(A) Tafta 9fF &
(B) T STyfs dexar &
(C) 3IWI g Iy dexar &

(D) 3IRfed RIATHIT B

MR T Tabed=T BT Ffcared fovaw fosa
aq1?

(A) U®

(B) sfag

(C) dfdel

(D) &7

v fFme 10 i & S8 w 38 @ B
39 Fa1E R aUEE-40°C &, e & R
Uy @1 aoE febam &2

(A) 15°C

(B) 25°C
(C) 35°C

(D) 45°C



109.As per 2011 census which one of

110.

111

the following states reported lowest
percent of urban population:

(A) Bihar

(B) Himachal Pradesh

(C) Rajasthan

(D) Sikkim

Who among the following used Cen-
tral Business Index Method for delin-
eation of C.B.D.?

(A) R.L.Singh

(B) S.M.Ali

(C) Murphy and Vance

(D) C.D. Harris

.Which one of the following pairs is not

correctly matched? Select the correct

answer from the code given below:

(1) The sector theory-Homer Hoyt

(2) Multiple Nuclei theory- C.D. Har-
ris & E.L. Ullmann

(3) Industrial location theory- Alfred

Weber

(4) Demographic Transition theory-

T.L. Smith

(A) 1

(B) 2

(G 3

(D) 4

Geography\027\2019\Q
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109.39 2011 & SHIUMT & AR e I

110.

111

# 9o HH TRIT SHEET gierd &t
fosam o

(A) feerR

(B) fewmact wawr

(C) ==

(D) Rifomw
fr=foiaa # & feam A.a).81. & dmiea
?g P RS gadbics Y &1 JamT
fosar ar?

(A) 3mR.wd. Rigq

(B) ©H.UH. 3T 7

(C) w&f 3R a=F A

(D) g Ra A

Freffed & & B9 e g G &

g7 fd o e § ¥ 9 IR ghe

(1) @ Rigr-8mR grad
SgItHe fagra-.8n.8Rw 3k
$.00. 3eT8

3itefie saRerft Rigra-sehe d
v

(A) 1

(2)

(B) 2
(C) 3
(D) 4

P.T.O.



112.

113.

114,

As per Census 2011, the total num-
ber of Metropolitan cities in India is
about:

(A) 40

(B) 48

(C) 53

(D) 68

Rank-size rule was propounded
by :

(A) G.K. Zipf

(B) Mark Jefferson

(C) O.H.K Spate

(D) Jean Gottmann

Who stated that Umland of a town
is that portion of surrounding coun-
try, which is linked culturally with the

town as a centre?

(A) D. Whittlessey
(B) Spencer
(C) G. Taylor

(D) A.E.Smailes

115.The term Megalopolis was first time

used by:

(A) C.D.Harris

(B) Jean Gottmann
(C) G. Taylor

(D) Lewis Mumford
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112.

113

114,

115

ay 2011 & SNV & AR HRA H
HEMTRI (Agmifaes fadh) & s @
[SRLERINE
(A) 40
(B) 48
(C) 58

(D) 68

Pife-ameR Fom & ufaufed fear o

(A) an.®. 5w 3

(B) AIG STHRE A

(C) 3NTa.®. |c A

(D) 3T TMCHT A

e ®a & f6 “feell TR &1 3mels
3P dGfad AT JMHIOT &7 & a8 |
BRI & 5 v T § Rerd R 3 ARepicicb
BT F FYH BT 87

(A) 3. Bee

(B) W=RR

(C) 3M.eeR

(D) U.3. 9

AT Ot T AT aaveH fohar

oT:
(A) W3 2Re A
(B) S TigHT =
(C) MR A

(D) afew gawiE 3



116.

117.

118.

119.

The central place theory was pro-
pounded by Walter Christaller in the
year:
(A)
(B)
()
(D)

Who among the followings divided Ru-

1931
1933
1939

1951

ral settlement on the basis of four
major Morphological, Components
these are homogenous part, Central
part, circulatory part and special part?
(A) C.A. Doxiadis

(B) C.D. Harris

(C) R.L.Singh

(D) A.E.Smailes

Who among the following is related
to work on measurement of spac-
ing of settlement?

(A) J.A.Barnes & A.H. Robinson
(B) G.K. Zipf

(C) E.L.Ullman

(D) G. Taylor

Who among the following stated that
Urban Geography is concerned with
interpreting the patterns and relation-
ship that exist within the urban are as
on the one hand and between the ur-
ban areas and non urban areas that
cities serve on the other hand.

(A) H.M. Mayer

(B) L.D.Stamp
(C) R.E. Dickinson

(D) None of these
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116

117

118.

119.

P W Ngrd 3 areex e J

foet o o gfcurfea fosar o
(A)
(B)
©
(D) 1951

1931
1933
1939

Sr=foiRaa # fem amiior siféram @1 IR

THRT THIRD! FETH! &b MR R o
foan en? S fo5 & wmi a1 FEEar um,
Hra T, ulRkeeRor wmr gen fafdre
HIT|

(A) U ST

(B) .. R«

(C) 3R.uer. g

(D) U.3. 9

frafeiRad & 9§ @9 it & s

B A0 R F B Traferd g2

(A) 3.0 IR=9 3R v.vg. A==

(B) sh.&. 5w

(C) $.UcT. 3cre

(D) 3. R

fr=feRaa & & oo oat fob R e
3 Tfcru eI el ot SR & e
& 3N U 3R TR &t & WiaR femm &
3R R 3R TR &3t 3R 3R aat
S TR Ha1 B €, & 77 U™ A £
(A) UTI.TH. MR

(B) UA.E. W

(C) 3R.3. Bfe=m

(D) 3T ¥ B &l

P.T.O.



120.Who among the following is known

121.

122.

123

as father of Electoral geography?
(A) C.D. Forde

(B) T.W. Freeman

(C) Andre Siegfried

(D) P.M. Roxby

Who one of the following is not an
American Geographer?

(A) Mark Jefferson

(B) William Morris Davis

(C) Isaiah Bowman

(D) A.J. Herbertson

Which of the following is not cor-
rectly matched?

(1) Kitab Muraj Al Dahab-Al Masudi
(2) A book of Routes and Realms-
Ibn Hawqal

(3) Tarikhul Hind- Al Idrisi

(4) Kitab Al Hind- Al Beruni

(A) 1

(B) 2

() 3

(D) 4

.The famous book ‘The culture of

cities' was written by :
(A) A.E. Smailes

(B) Lewis Mumford

(C) P.W. Brayan

(D) H.J. Fleure

Geography\027\2019\Q

[30]

120.fr=foied & & fha@! Mafes et &1

121

122.

123.

ST HFT STIT 22
(A) HE B
(B) traxl WREE
(C) wog drmhis
(D) Q.uH. JaEeE

fr=feRea # & o smRa! yieraa =&

&?

(A) U STHTH

(B) faferaw #tRw efaw

(C) & &

(D) ©.3.&REead

fr=foiaa & &1 & A& gafera -8l &7
fpaTe HRTST 36T <16~ 3 wRGE

T §& 31Tt W vug Rared-gs7 ated

gt
aReper fe=- 31t g™
foharge fee-or =t

(A) 1



124.

125.

126.

127.

Friedrich Ratzel and Ferdinand von
richthofen was belongs to the period
of :

(A) Possiblistic paradigm

(B) Romantic analytical paradigm
(C) Environmentalistic paradigm
(D) Chorological paradigm

Which of the following pair is not cor-
rectly matched. Select correct an-
swer from the code given below?
(1)
(2)

Marco Polo- Venice (Italy)
Christopher Columbus-Genoa
(Italy)
Captain James Cook-Yorkshire
(Britain)
Ferdinand Magellan-Barcelona
(Spain)

(3)

(4)

(A)
(B)
(®)
(D) 4

Who among the following was the

W N =

propounder of concept of Positivism?
(A) August Comte

(B) J1.Q. Stewart

(C) Herbert Spencer

(D) William Bunge

Which one of the following is not re-
lated to traditional paradigm?

(A) Teleological descriptive paradigm
(B) Romantic Analytical paradigm
(C) Environmentalistic paradigm

(D) Humanistic paradigm
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125

126.

127.

peRe Ieod 3R weHre a= Raonea

foa g & awfoa o
(A) TRTEaE R-hdd
(B) BIUERE! fageiyuners R<-peis

(C) TaiaRvuEmE! fid-Theid

(D) efade-TTs foma-Therd

Srafefea & & o a1 gm w@ gafad
T8 g7 far e e ¥ we IR g

(1) W - af= (3ee)

(2) freR BeEg-3T (3ee)
(3) e I Po- g (fFes)
(4) WEMFE HEH-TRIAHT (FU)

(A) 1

(B) 2

(C) 3

(D) 4

frfafea § ¥ o ycerar doed &
yfcued AP

(A) 3TRA DI

(B) 3. & VMR

(C) &R WK

(D) faferam g

frefeRad & 3 o e e was
I e 6 &Y

(A) WRZIdE guiFTHG Ia-Thad
(B) BRIERE fagemonas fo-was
(C) uvafeRvmEre - wbead

(D) HMgdK! f<-%ad

P.T.O.



128.

129.

India’s population growth rate has
been continuously declining since:
(A) 1961-71

(B) 1971-81

(C) 1981-91

(D) 1991-2001

A suitable indicator of optimum

population is :

(A) Resources could support a larger
population without reduction in
living standard

(B) Excess population over poten-

tial resources

(C) Population enabling maximum

percapita output high living stan-

dards, under given economic and
technological conditions

(D) All of these

130.The Primitive population of the And

131

-man Islands belongs to which ra-
cial category.

(A) Negroids

(B) Negrito

(C) Australoids

(D) Mangoloids

.Which religions group has lowest

population in India?
(A) Bauddh

(B) Jain

(C) Christian

(D) Muslims
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128.

129

130

131

R H ST gl &R B A FReR A
GRGES

(A) 1961-71

(B) 1971-81

(C) 1981-91

(D) 1991-2001

3R ST B 39T B @ -

(A) e TR H B & 1691 31 S

BT AT GRT FERT
(B) F¥TH FHIEAT I e ST
(C) ffma aniiie va daiie! aem #
SR T 3ifIdad Ui A 3edmes
T4 I Sfad WK

(D) Iwfaa T

.3TUSHAM GIU g B 3nfeH S fhd

garta Sl & Tt @
(A) e
(B) firer

(C) 3T
(D) HM@ArTS

RA # fooxr enfifes anf ot siean =g

&7

(A) stz
(B) =4
(C) 18

(D) gRewm



132.The first ancient urban settlement was :

(A)
(B)

Ur ( Mesopotamia)

Harappa and Mohenjodaro
(Indus valley)

Fila (Nile Valley)

None of the above

(o)
(D)

133.According to 2011 census the state

134.

135.

having highest density of population
in Indiais :

(A) Kerala

(B) Bihar

(C) West Bengal

(D) Uttar Pradesh

Name the Five Year Plan (FYP) in
which the “Voluntary sterilization
population policy” was introduced?
(A) First FYP

(B) Second FYP

(C) Third FYP

(D) Fourth FYP

Demographic transition theory was
based on the survey of :

(A) Developing Countries

(B) Developed Countries

(C) Under developed Countries

(D) Oriental Countries

136.According to 2011 Census the cor-

rect sequence of population density
in descending order in the given
states of India is :

(A) Punjab, Rajasthan, Uttarakhand,
Nagaland

(B) Nagaland, Punjab, Uttarakhand,
Rajasthan

(C) Rajasthan, Punjab, Uttarakhand,
Nagaland

(D) Uttarakhand, Nagaland,

Rajasthan, Punjab
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133

134.
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136.

T WRINGH TR 31feaT o

(A) IR (HHMETH)

(B) &= 3R Areaiest (Rewe )
(C) e (e =reY)

(D) 3uYsH H BIg el

¥ 2011 @ FTUMT & AR AR

4Tt SO aTet I &
(A) o=d

(B) faer
(C) ufsT™ §ma

(D) R YT

5 daauta s # “wafted greaTdHRoT
STRIET A @7 e g3m a1?

(A) Y Ay s

(B) faira daadfa arsmn

(C) I Yaasta AT

(D) aqY dgawa i

0 o L o o
LOIHADDIY ALHYT MGl o HDIX &

29l & gderor W 3reniRa &2

(A) TaBrmeia <2 &

(B) fooiaa =it &

(C) afgetaa aen &

(D) 9T <9 b

2011 B UM B AR HRA &
srenfeiRad s # SRIRET Ul & TR
B &

(A) U, ISR, JTRRIVS, ANCIUS

(B) ANTAIUS, U3, RNV, RToTeI

(C) STy, GaTlg, 3TRIEUS, EIRIIGLES

(D) 3ITRIEUE, ANMAUS, oI, ol

P.T.O.



137.Resection is the method of finding:

(A) One’s position

(B) Position of any object
(C) Thedirection in field
(D) Dipanglein the field

138.Who one of the following is associ-

ated with the theory of Distinct
Modes of Life?

(A) Humbolt

(B) Herbertson

(C) Vidal de la Blache

(D) E.C. Semple

139.The following diagram represents :

— e ]
p——
S
— a0—
S - B
S iddm
(A) Water fall (B) Col
(C) Ridge (D) Spur

140.In spherical diagram, the radius of

spheres are proportionate to the :
(A) Cube root of the quantities
(B) Square root of the quantities
(C) Percentage of the quantities
(D) Actual quantities

141.According to Burgess model the

zone next to CBD is a zone of:

(A) Working class housing and indus-
tries

Suburb inhabited by middle class
and wealthy citizens

Middle class housing and govern-
ment offices

(B)

()

None of the above

(D)
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A fafer & am sa Ao &
(A) 3 Rerfa

(B) ot awg ol Refar

(C) & # feem

(D) &F ¥ 99 PIoT

frfoRea # & o fotre siem osfa

Rrgra & awaferd &2
(A) W

(B) ERadEH

(C) faster &t e e

(D) §.30. Jwgd
frr=feRea et gofar 2:

—
_.-E:%-_ f__—:
e

¥
golr—oI
SN m

(A) 36T guTd (B) @A

(©) R= (D) ¥R

T 3RE #, M & e FErurd
B &

(A) 91 & oA &

(B) #ET & THA &

(C) w7 & wlaea &

(D) IRald® 9@ &

.S & Hiset & SR Aarel § ol uResd

# 8T &-

(A) PRI 3MaTT Ud I

(B) WeH U4 Iwq et gRT 37aT
TR

(C) 7egH TN 3MAN 3R TRPRT THR
(D) 39ch H BI5 el



142.Who wrote “Law of Migration”?

(A) 1.J. Clark

(B) Chandana and Mehta
(C) E. Raveustein

(D) W. Thompson

143.Traffic flow diagram represents:

(A) Total traffic movement along line
of communication

(B) Speed of traffic along roads

(C) Velocity of traffic along line of
communication

(D) Traffic rules

144 A settlement near a desert oasis is

likely to have:

(A) A Linear shape
(B) An oval shape
(C) No specific shape
(D) None of these

145.1In weather map closely spaced is iso-

bars represents wind with:
(A) Very high velocity
(B) Lesser velocity

(C) Very high pressure

(D) Calm region before storm

146.A diagram which shows plotting of

independent frequency distribution is:
(A) Linear Regression Diagram

(B) Dispersion Diagram

(C) Scatter Diagram

(D) None of these
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@t 3% AU B OED o
(A) .. TAH

(B) T U Aear

(C) §¥awH

(D) e ATTaT

I YT JETes Yefdid oRdr &-

(A) HIR IGT & FER Pl AT JaTg
(B) s & IER ITERIT & Tfd

(C) OR[N & TER AT &1 o
(D) arara o

ORI AR & o Rea siftars

@ 3P 8Kl &

(A) JET IMBR

(B) 3MUSHR 3MBR

(C) P fafdre anpR =&l
(D) & & @Ig el

Ow et R o fafed gweE

T [ YBR Bl &4 BT FaRd el &l
(A) 3rafés g

(B) &9 T

(C) e arger

(D) qBM & Yd &I AT &

qa— aRERAl fgavor & yelRia &=
arer Y@ 8-

(A) Fas Rem arhoa

(B) e @t

(C) hex @

(D) $H & PIg el

P.T.O.



147.Why the annual range of tempera-

148.

ture of middle areas of continents is
high as compared to coastal areas?
(1) Thermal difference between land
and water.

Variation in altitude between land
and water

Presence of strong winds in
middle area

Heavy rains in middle areas as
compared to coast.

Select the correct answer using fol-
lowing code:

(A) 1lonly

(B) 1and2only

(C) 2and3only

(D) 1,2 ,3and 4

Name the projection in which all the

(2)
(3)
(4)

parallels are standard parallels.
(A) Gnomonic Projection

(B) Polyconic projection

(C) Zenithal equal area projection

(D) Stereographic projection

149.The term ‘Conurbation’ was coined

150.

by :

(A) P. Geddes

(B) M. Jefferson
(C) E.W. Burges
(D) None of these

Who wrote the book "“Statistical
Methods and Geographer”?

(A) A.H.Robinson

(B) S. Gregory

(C) G.C. Dickinson

(D) M.S. David
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147. 8T &F & gaT § AEE & Hegadt

148.

149.

150.

A H g1 dIamR F4i 37fee g 27
I qAT 31 § g frgan

I AT 37T I Hars & F=ar
qegadl & H eihene gareh @
Jufeafa

qct B e | "egadr e 6 9RY
auf
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(A) Fd 1

(B) % 13k 2

(C) 23k 3
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oo weya & <3eft 3refer IV YTHTOTG S1efier
(A) =T vaY

(B) &2Ip wam
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(D) wIRANlfts wem
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(D) wH.Tg. =f3s



151.

152.

Consider the following statements:
(1) ‘La Nina'is characterised by un-
usually cold. Ocean current in
equatorial Indian Ocean where
as 'El Nino' is characterised by
unusually warm ocean currentin
the equatorial Pacific ocean.

(2) El Nino has adverse effect on
south-west monsoon of India,
but La Nina has no effect on mon-
soon climate.

Which of the statements given above
is/are correct?

(A) 1only

(B) 2only

(C) Both1land?2

(D) Neither 1 nor 2

Consider these pairs:

(1) Cardamom Hills-Coromandal
Coast

(2) Kaimur Hills- Konkan Coast

(3) Mahadeo Hills-Central India

(4) Mikir Hills- North-East India

Which of the above pairs are correctly

matched?

(A) 1and?2

(B) 2and3

(C) 3and 4

(D) 2and 4
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(1) foyad Y@ e 7FeRmR & 3R
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(A) 13iR2
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153.

154.

155

Anthropo-centric viewpoint in Geog-
raphy was firstly adopted by -

(A) Humboldt

(B) Ritter

(C) Ratzel

(D) Richthofen

Normally, the temperature de-

creases with the increase in height

from the earth’s surface because:

(1) the atmosphere can be heated
upwards only from the earth’s
surface.

(2) there is more moisture in the
upper atmosphere

(3) theairisless densein the upper
atmosphere.

Select the correct answer using the

codes given below:

(A) 1lonly

(B) 2and 3 only

(C) 1and3only

(D) 1,2and 3

.Consider the following areas:

(1) Bandipur

(2) Bhitarkanika

(3) Manas

(4) Sunderbans

Which of the above are Tiger Re-
serves?

(A) 1and2only

(B) 1,3 and4only

(C) 2, 3and 4 only

(D) 1,2,3and 4
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156.

157

158.

159.

160.

The 'Kitab-al Hind' was written by
(A) IbnKhaldun

(B) Ibn-Batuta

(C) AlBaruni

(D) AlIdrisi

.Who introduced the teleological view-

point of Carl Ritter to the American
Geography?

(A) Arnold Guyot

(B) Ellsworth Huntington

(C) Isaiah Bowman

(D) W.M. Davis

What concept did Ratzel-Kjellen-Carl
Haushofer develop about a state?
(A) Political Landscape school

(B) Political ecology school

(C) Political power school

(D) Organic state school
W.Christaller's classification of towns
is based on-

(A) Centralized services

(B) Number of persons

(C) Number of live stock

(D) Employment Figures

Who one of the following developed
the 'Concept of Conurbation'?

(A) E.W. Burgess

(B) W.J. Reily

(C) G.K. Zipf

(D) Patrick Geddes
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161.Which one of the following soils is 161.FafelRea § 3 59 v &1 den ey o

also called black soil? HEd &7
(A) Podzol (A) digaa
(B) Chestnut (B) TEAC
(C) Chernozem (C) THH|
(D) Laterite (D) wexT8e
162.The word 'Possibilism' was firstly 162 . urafafersa ot gavuw gafaa f&ar o
coinal by : (A) =TT 3
(A) Blache .
(B) Brunches ®) qﬂ#
(C) M. Sore (©) . WRA
(D) Febvre (D) B F
163.0n which of the following rivers the 163 . fr=foiRaa Aicdl # ¥ 6 9 R 'gaiigr’
'Dhuandhar’ waterfall is located? Stervara fRera g2
(A) Mahanadi (A) TEFC
(B) Tapi (B) am
(C) Godavari (C) Teraxt
(D) Narmada (D) THar
164.Tungbhadra and Bhima rivers are 164.GHeT Td W At [ead Afedr &
tributaries of- (A) THar &
© ke ® o
(C) Mahanadi (C) wETH
(D) Godavari (D) Merar
165.The theory of terrestrial unity was 165.Ufq vahdr o & Yadd &
propounded by: (A) e ) o <Y
Eg; \Fi:ftzlrdela Blache (B) Rex
(C) Mackinder (C) Hipwex
(D) Humboldt (D) Ewce
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166.The bulk of rainfall along the 166.PRMUSE d¢ W I el aui I Jferebig]

Coromandal coast is derived from A S N &
(A) IR G131 & AR RIHAROT
(A) Seasonal Shifting of trade winds
il
B) The retreating monsoon winds :
(®) ? (B) @ltedt AFRE gamslt &
(C) Depressions originating over (C) Wa%w$qwmmm
central Bay of Bengal TJhardl o
(D) North-East Monsoon winds (D) JERI-Gdl AL Earslt
167.Brahmputra river in the Himalyas 167.feHTeTa # ST &l JaTER0T &
presents an example of : (A) 3EIRITUT 31UaTE BT
A) Superimposed drainage
(A) Superimp g (B) udfad saTe

(B) Anticedent drainage

C) wRadl G
(C) Subsequent drainage (©) 3qdre

(D) Consequent drainage (D) W 3fudrg ot
168.The largest tribal group of India is 168. 9Rd &I & §87 ST g g
(A) Santhals (A) I
(B) Bhils () e
(C) Gonds (C) s
(D) Nagas (D) =AM
169.Which one of the following rock sys- 169.9Ra d F=foRea d a9 fea o pa &
tems has the most mineralised rocks Tafftre @fie e &7
in India? (A) P
(A) Cuddapah
(B) Dharwar (B) &Rt
(C) Gondwana (©) Mgt
(D) Vindhyan (D) fdemm
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170.

171

172.

173

Ranchi Plateau is an example of
(A) True Peneplain

(B) Uplifted Peneplain

(C) Downwarped Peneplain

(D) Incipient Peneplain

.When do the storms of small dimen-

sions known as 'Nor-wester'develop
at the head of Bay of Bengal?

(A) November-December

(B) January-February

(C) April-May

(D) June-luly

Which soil covers the second larg-
est area in India?

(A) Alluvial soil

(B) Black soil

(C) Laterite soil

(D) Red soil

.Ankaleshwar is famous for

(A) Uranium
(B) Coal
(C) Petroleum

(D) Diamond
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173.

3l BT TSR JaTexoT &-
(A) & U= @
(B) 3fcera afees &1
(C) 3radfera Ui &
(D) IR U &

VATERR (PIA-dIRET) AW BIS PR

& TBMI BT 384T S DI WIel & Ny
U H &4 BIa & ?

(A) TorR-TearaR 9

(B) SHAXI-URa<I H

(C) aer-wgH

(D) F-eme A

IRd & B A g doea o gfe |
TR WIF | 8?2

(A) STefie

(B) prell

(C) clexre

(D) et

PR TS &

(A) QfTHEg

(B) Pl &g

(C) &faT ddt &g

(D) BRIEg



174.Which one of the following map pro- 174. F=foRea sk v g S e fog &
jections is most suitable for show-

ing the cultivation of wheat in the ﬁﬁﬁ@fﬁﬁ@ﬁ?@ﬂa’@rwﬁ
world? (A) TR®BR
(A) Mercator (B) WATEI%aresd
B) Sinusoidal
Ec; Mollweide (C) Ferds
(D) Cylindrical equal area (D) TH&T JEHTPR
175.Settlements of The Nagas are usu- 175,91 ST & §Rad] IHad: 3raferd
ally located at g
(A) Hill slope (A) UETS! GIel IR
(B) Rivers banks (B) &l deael W
(C) River terraces (C) e il )
(D) Ridge tops (D) P Bkl )
176.Which one of the river is not a 176.fFrefaRaa Afedl # & o1 ve & gdaat
Anticedent river? T &7
(A) Sindhu (A) Rig
(B) Satluj (B) Wcctst
(C) Vyas (C) =™
(D) Ganga (D) T
177.Talcher coal fields lie in 177 . oER Braa @ e & -
(A) Mahanadi Valley (A) e Trer 3
(B) Son Valley (B) 9 Oel
(C) Damodar Valley (C) TR et
(D) Godavari Valley (D) e o &
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178.What is R.F. if the given scale 3 178.3f¢ a19e 3 .M. SRR 9 eaerex an

centimetres are equal to 9 gsﬂ%x a‘rmqa’iﬁfaﬁqaw%‘?
?
hectometres- (A) 1: 27,000
(A) 1:27,000
(B) 1:30,000
(B) 1:30,000
(C) 1:45,000
(C) 1:45,000
(D) 1:90,000 (D) 1:90,000
179.International projecton is the modi- 179. 3R T&19 FeNferd &9 &
fied form of : (A) Wg@maﬂ
(A) Polyconic projection
(B) HI@AIS Y& &
(B) Mollweide projection
(C) Bonne's projection (C) A ward 1
(D) Gall's projection (D) Tifed H&Id ol
180.The Ergograph was propounded by 180. 37U 1 gfeutied fpar e
(A) A.G. Ogilive (A) ©.3M.3ffeE 3
(B) A.Geddes (B) v.afsws
(C) E.Raisz (C) 33377
(D) A.H.Robinson (D) ©.Ta e
181.Which one of the following methods 181.fF=faiRaa faferal & & o= foos e an
uses lines to show the distribution ydor & ST O & FIaRoT 3 ey
of population density in a country or .
PoP Y Y & ToTE 31 1 AT Rl 2P
region?
(A) Chorochromatic (A)
(B) Choropleth (B) ®RIWY
(C) Choroschematic (C) PRINAREH
(D) Isopleth (D) sq_rg_\:n.lﬁa

Geography\027\2019\Q [44]



182.The rice-producing areas are asso-
ciated with

(A) High density of population
(B) Moderate density of population
(C) Low density of population
(D) None of the above

Who among the following noted first
the regularity between the sizes of
cities and their rank?

(A) Zipf

(B) Jefferson

(C) Auerbach

(D) Christaller

183.

184.Selva Forests are:
(A) Broad leaf deciduous forests
(B) Broad leaf evergreen forests
(C) Coniferous evergreen forests
(D) Coniferous deciduous forests

185.Which one of the following instru-
ments is used to measure the dis-
tance between two points on a map?

(A) Pantograph
(B) Opisometer
(C) Photometer
(D) Planimeter
186.Tertiary divisons help in reading dis-
tances upto two decimal places on
(A) Plain scale
(B) Vernier scale
(C) Comparative scale

(D) Diagonal scale
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182. &I BT 3UTe B_ dlet & Taf-erd &:
(A) 3MfEP ST gicd o
(B) HEIH ST g9 9
(C) 3109 SN Oica &

(D) 3udh # ¥ foelt & ot &

183. Rl & 3MHR 3R 37 AN & &7
Fraftaar ) advem foem e faar?
(A) o
(B) AT
(C) 3iRarer
(D) fHwRieR

184. 9l o &:

(A) TSI =i aTel oS o
(B) eI Wi ATl FEEER o
(C) TPURY WETEER a

(D) PUR! UasS I

185. ffoiad 3 & 39 v 97 Ak R a
figaTt & dra & g A= & JANT H A
ST 8?2
(A) Yerams
(B) 3NN
(C) WIeMIeR
(D) MR

186.T<rd fa¥TT &f A & &l TeHed i
ad B gRAT uel 3T et &

(A) TRl AU TR
(B) afeR A1U® R
(C) qaATHS HIYD TR
(D) ofad AS R

P.T.O.



187.The Karaganda Basin is famous for
the mining of
(A) Iron ore
(B) Bauxite
(C) Copper
(D) Coal

188.Which of the following geometrical
patterns of rural settlements are
most common in India?
(A) Radial
(B) Rectangular
(C) Circular
(D) Parallel

189. Which one of the following reservoirs is
associated with the Rihand projects?
(A) Govind Ballabh Pant Sagar
(B) Gandhi Sagar
(C) Jawahar Sagar
(D) Govind Sagar

190.Who among the followings gave the
concept of 'Rimland theory'?
(A) Griffith Taylor
(B) O.H.K. Spate
(C) A. Ratzel
(D) Spykman

191.The Broken Hill of Australia is famous
for the mining of
(A) Zinc
(B) Silver
(C) Lead
(D) All of the above
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187 RS 8 3ca & fore wfing @
(A) e erg &
(B) §IG9ISC &
(C) dlaT®H
(D) DI &
188. Rd & IToT 3rferarat § fe sanfia
yieradt § § B 31 T 87
(A) THI
(B) 3
(C) T
(D) THMR
189. FfciRaa siemert § & B Ree uRaemr
¥ it 87
(A) Tia=< ea¥ Ud IR
(B) TN AR
(C) AR IR
(D) mfde IR
190. Ructvs g’ o srgerRon FfeRad
7 J fooem R o e
(A) Ffey e A
(B) 3M.va.&. We A
(C) v
(D) WIEHHT A
191. 3 feran &1 Sae f&er &= & fore o
g
(A) TS
(B) dfar®
(C) AT ®

(D) IWfh Tt




192.Which one of the following is not a 192. = @ 9§ B 30T Bieada Foed T8l

tropical desert? a7
(A) Atacama (A) SICIHHT
(B) Arabia (B) 3rfgan
(C) Gobi (C) &
(D) Kalahari (D) WICTER!
193.Mental map studies were promoted 193. TR T 311 P HeTie b
by a
(A) Behavioural geography (A) TAERWRS LA §RI
(B) Humanistic geography (B) m“fﬂﬁm
(C) Quantitative geography (C) URHS et gk
(D) Radical geography (D) Hﬁaﬁﬁfﬁﬁm
194.The percentage of the schedule 194 3T ST B ST BT Y
tribes population is the highest in- JaaH &
(A) Arunachal Pradesh (A) 3RO yagr H
(B) Mizoram (B) faiRw#
(C) Meghalaya (C) W@ #d
(D) Nagaland (D) e W
195.Who amongst the following used 195 Srafiag 3 3 B5as $971 T 3B R
hair texture to classify world w e A gt @ e Bear
races ? 39
(A) A.L.Kroeber (A) T.0ST.PIER
(B) Blueman Basve (B) @qw
(C) T. Huxley (©) E—.
(D) Von Eickstedt (D) o TEwE
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196.Which type of soil is found in the co-
niferous forests?
(A) Chestnut
(B) Podsol
(C) Chernozem
(D) Regur
197.The annual range of temperature is
minimum at:
(A) Thiruvananthpuram
(B) Kochi
(C) Panjim
(D) Mumbai
198.Sinai Peninsula lies in
(A) Egypt
(B) Saudi Arabia
(C) Iran
(D) Turkey
199.Which one of the following vegeta-
tional species has the largest area
coverage in India?
(A) Sheesham
(B) Sal
(C) Deodar
(D) Teak
200.Rangpo in Sikkim is famous for
(A) Mica
(B) Bauxite
(C) Copper

(D) Petroleum

Geography\027\2019\Q

196.9/HURT a1 # fbd TR & g
ST &9
(A) TREAC
(B) dfsdret
(C) Tism
(D) IR
197. =¥ 1Y AuaR 9Tt ST &
(A) freaTagRa §
(B) @i d
ORUEIE:
(D) Hrg H
198.15718 gy Rera @ -
(A) frard
(B) W3al3Rd H
(C) A
(D) TdHf &
199.9Rd A F=feiRea amufas yenfaar &
Y {551 U &1 geaw e faeaR &7
(A) @i
(B) W@
(C) d@ER
(D) &M=
200. fafopm & <y wfvng & -
(A) 374 & fore
(B) STaNITSC & foie
(C) dfar & fore

(D) Ugiferaw & fore
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